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But they have no mind - Y7353 YT 912 IRY R

Overview

The 71wn stated that even a JopY VW WA can write a vi. The XA asks, ‘but they
are not intelligent people’, so how can they write a vx." Our Mmoo qualifies the
s'%713 question and offers various explanations of the ensuing X3,

=992 DY 999 917V VUM NNPYY NN VWIN NY 9INNI 2399 799 9TYIN r24Y
The question (of 17711 737 °12 XY X)) is according to X''% (who requires 72°n>
7mw9),” but not according to '3 who is not concerned for 7»wb 73903, And the

X2 answers, that a Y'wn can write a vi if there is an adult supervising him (and
telling him to write it 7w%). This indicates that a Y"wn can have (7nw?) 713 if supervised —

Mmoo anticipates a difficulty:
= 9212 1IN PPN DIINNY IVNYY 15199 31’711'\‘1 NNRP 7992 90T XM

And this which the mw» taught in the first P25 of "2 noon, ‘and all who were

vmw and others saw them, etc. their v nw is w2’ (including a 1"wn) -
- 9915 *10INYY NING S¥a NYT NI JN (3,20 ow) NIDN 1359IN)

And the Xa»» there asks; ‘who is the Xin (of that 7iwn) that does not require

proper intent for mwsnw’, etc.; mooin is asking, why is it considered without 7m>, since
NI PRI DINR?

mooin replies:
= NYya NN NON VINYY 1999 111299 19X 9991 0NN

There (in 1711 'on) we are discussing a situation where the 7173 is not teaching

the 1"wn to have intention for 7wsmw, rather the 9173 is merely observing him, and

nevertheless it is 7w 7V NWY; proving that no 71112 is required for 7V MY -
- SRy MUY 195019 112910 1533 Y 1Y SITIY 59991 XN YaN

" Se & 71"7 >"wA that since they are not 7¥°7 12 they will not know how to write the nw® v3.

? See footnote # 1. The question of the X3 is only if we assume our 7wn follows X"9. See “Thinking it over; # 1.

3 xa.

* The mwn there stated that if someone observed the wnw of a 1"wn it is w; the Xm there states that this ruling
implies that there is no need for 711112 by nvnw, for if there was a need, how can the nvnw of a1'wn be w> (even if
MR 7RI 2°R), since they have no 7113, However from our X723 it is evident that a Y'wn can have 713 (of 7w by
av) if a 773 is 123 HY W, So these two NMna seem to contradict each other whether a 1'wn can have 71173 if others
instruct him (our X7%3), or not (the X713 in 12117). [The need to observe him is to make sure that it was a 77°w2 q0nw. ]
> The mwn in P21 states, JMX PR 20N, indicating they were merely observing, therefore it is understood that the
1"wn had no 71M3; however in our X113 we say, "2 2 72w 2173 7w X1, indicating that the 9173 is supervising them
and instructing them to write it 7aw% (see 7w 0"17n).
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However here we are discussing a situation where the 9173 is supervising him,
and teaching him and urging him to write the 72w 03, so the 1"wn have 7m>.

mooIn proves that a v (and a w1 can have 71112 if so instructed:
= INYP 92 )NV Y “nwan wan AY5NN vYPN (2,77 M) ANOIN MY P93 99) 997D

And therefore we also find in 731 n1x» pap that the X723 excludes a nw=m won

from performing 17391, (only) because they cannot speak -
— 909 909 XY 17393 13N 232 INDT DYV YAN 'Y 21N WINT DIVN JOP)

And a jup is excluded from performing 77%°%1, (only) because the word 2N is
written in the w9 of 7¥°%n, however they are not excluded on account that

they cannot have proper 11112, (since he can be instructed to have 7113) -
- 2993w 1NNV 1Y 19109 MINT *Bnn NT 23 by SN

Even though the xn>12 states there that the mx"%n is invalid unless they both

(the 02° and the 712°) have 73113, and nevertheless a 7vp (and a n/wAn) would be w3 (if not

for the fact that they are not X3P °12, or the P05 of W°X); the reason is -
= 152) DY 12IY DITHD 9N NIV MIVYY IMIN 129501 1T 2T DIUN

Because the 7''s2 can instruct them to do the 7»w% 790, and so it is like a 5173
22 5y TR (of our X7M3), where they can make the v (and n/wAm) have proper 71112.

mooIn cautions that there still exists a difference between v and 7%°5m:
= MOV 1DIAN VI 12X Yy Ty D11 NN 1)

However here (by a v3) when there is a 1923 % 721 9173, the v is 7w even if it is

written by a unw -
= 9% DY 199Y DWW NNV INIY AMIY NNV 1oAY NPT XNDN XNINT DIVN

For it is an evident fact that he is writing 7»w®, since he writes his (husband’s)

name and her (wife’s) name, the name of his city and the name of her city; this

proves that he is writing nw? -
= NID NWYN 92 IND NVIVT (v pr9) DNIYT RNIDINA 19N NYHN PIYH AN

However regarding ;x°»m the Xno2in in n»a 'on rules that a MW is not

® A nwam wn are a male and female deaf mutes respectively. If either the 02’ or the 7n2* is a NwAN/wIN they cannot
perform 7291 since there is a requirement for both the 02’ and 72’ to recite certain statements in the process of 7x°%n.

7 See there 3,7p. The oo writes (in 1,75 [R¥n] 0»27), regarding 7%°%0 that "3 nAph w8 o 82 oXY, which
excludes a jup.

¥ In order for mooIN to prove that a Jup can have 73, he first needs to show that there is a requirement for 73 by
7¥9n. Otherwise (if there is no requirement for 71115 by 7%°%n) it is understood why the X3 excludes a Jvp (only)
because the 105 writes @, and not because of lack of 711113, since 713 is not required.

9,20

19 This proves that 1%°9n requires 1IN, and nevertheless the X3 does not say that Jop N¥°on (or wAn) is 77109
because of lack of 7113 (rather it is 109 only because of w>X); proving that a wam Jup can have 7awH 7a5.
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capable of giving 17357 -
- 192 923 1135 NNWYY TAYT XN KI9N NYTIMN 1150 197 7AW %9 Yy 9N
Even though 7''s2 teaches him to do it mnw>, because by 7%°%r it is not evident

that he is doing the 72Ww? n¥°%n as it is evident by a wa.

In summation; a Jop (and a W W) can have 72 if there is a 1°23 5¥ 72 7173 and instructing
him to write 72w, A Jup (with a 123 2¥ 72 9173) would even have been qw> for 7%°91, if not for
the vW°n of "X’ (but not a 1uP). A TV is W3 to write a VA with a Y23 9¥ 72 7173 (since it is very
evident that he is writing 7nwY), however regarding 7%°%1 a 70 is 2109 even if a 1923 ¥ 719 9173,
for it is not that evident that he has the proper 71112.

ndOIN asks:
= 21393 5y 79999 917HT 2309 IND 211393 MINYIY 232 IND XA ININY 1IN ON)

And if you will say, but still the 1"wr are not in the category of mn»w, so what
does it help that there is a 19233 ®p 721 91722!

N1B0IN answers:
- 99)0N NYN NP Y¥AN IND 3N9YT N29N3 MNYIY 1983 KT 91015 W)

And one can say that we do not require ny>>w by the writing of a v3, for the
word '2an2Y', is not referring to the husband but rather to the scribe.

mMooIn responds to an anticipated difficulty:
- MNYY DIV INY NN D319 °2N3 19105 ININOY 1298 (3,59 9m YIPT 1999INT RN

And this which the 71wn states; it is required that the husband ‘says to the scribe,

‘write’ and he says to the witnesses ‘sign’’; that is not on account of nymbw -
- 91091 NIND 2DYWN RIN NNYY YN KY H¥aH MY NYWIT DIUN KON

' See later in this Moo footnote # 33. When the 7w is writing the 3 and writes all the names properly we can
imagine that he has intent that it is being written N1n>13 ow%; however by n%°%1 neither the man (whose shoe is being
removed) or the woman (who is removing the shoe) indicate to us that this is being done in order to permit her to
remarry; he may think she wants to remove his shoe and she may think she wants to embarrass him.

12 A y'wn are excluded from being 2°'mOW (see X,21 PWITPR).

13 mooIn in this question assumes that when the 770 writes N1n*15 150 7% 2n3, this refers to the husband; however a
790 can write it as a MW of the husband. We know that a 1"'wn are not Mm 5w "33 so even though there is a 72y 2173
123 Yy, which makes it a 7mw? 72°n3, but they cannot be 2°m7W to write it on behalf of the husband.

' mooin is reversing his previous assumption (see footnote # 13), and maintains now that anyone can write the 3,
not necessarily the husband. Therefore the 1'wn can write the v, since no MW is required.

'S The fact that he must tell the 19, ‘write’, (seemingly) indicates that he is making the 1910 his m9w; otherwise,
why is it necessary for the husband to tell the 7910 to write.

16 Part of the w» is that the 03 needs to be written WA aw, and if the husband did not tell the 7910 to write the v, this
e of P ow? is lacking, for why should we assume that this woman is being divorced (as opposed to being
vmMY a 127 that even if there was no 712 (it was ond) it is W2 since presumably this animal is intended to be a 127p).
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But rather that when the husband did not order the 7910 to write the v3, it is not
considered that the v was written 7w, but rather it is considered X»n® and the

V3 is oD -
= (3,397 DNAT YWIIA 1999ANTI NP PUINY INY NUNT

Since a woman is not designated to be divorced, as the X7 states in the
beginning of 2°m2t ndon —

mooIn anticipates another difficulty:
= AN YVIVNY NIPNAN NN 2NN NINNI 2N IN) (3,79 10pY) VIN I YWY 9INRT NN

And this which the X713 states in the beginning of w7 ®> P19, ‘and if the 770

would have written (just) 'an2Y', I may have though that it excludes only this case’ -
- Y89 29109 XP 1IN INDT 79099 INUN NN WY AN U199

The explanation of ‘this case’ is where he wrote a vi to divorce his wife, and
reconsidered (and another person with the same names, wanted to use it to divorce
his wife), in that case it is 7109 ‘since he (the second person) did not write it* —

mooIn responds:
- anNY NYN 10191 SWI99D A9 IV 599 NN 2995 1998 HyanT oIvN NY

It is not 7105 because the husband is required to write the v, but rather it is
705 because it was not written for their @i s (of the second couple), but
rather it was written for another couple (the first).

Mmoo anticipates an additional difficulty:
- RV 1215 509915 KaDrD? (291 PPT MINT N

And this which X70r 27 stated previously, ‘I can annul all %%, and 21 asked him -
- Psh mans X9 $0IN NONY AN9Y 25097 DIV RPN RIYY SNN

What is the reason that you can annul all v3; is it because it is written '2n2>Y'
(and he shall write), but here (by all "v°3) she writes it —

mooIn responds:

" The simple reading of the X713 would indicate that the reason this 13 is not 2w3 for the second husband (and wife)
is because the second husband did not write it; indicating that the husband must write the v or appoint a %W to
write it for him, contradicting this which '01n just stated that the husband need not write the 03!

18 nooin is interpreting the words of the &3, that 7% 2°n2 Xp 17°X XY, to mean (not that the second husband did not
write it, but rather) that the v was not written for their divorce; it is a 117017 in 72W> (not in 'an3Y').

1% See *"wA there *7°X 71"7 who writes that the woman pays for the scribe, so she is the one (paying for the) writing of
the v3. From that X7m3 it is also seemingly apparent that the an3 refers to the %va (not like nwon concluded
previously [see footnote # 14]), for if 2021 refers to the 7910 (as NDOIN maintains), why is there a problem if she pays
the 9107!
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=192 1IN NIV 1I’YAT TPV ININ 0NN
There, %21 relied on the word "yn1Y', which indicates that there is a requirement

that the 1910 should write at his (the husband’s) command and give it to the wife -
= NN NYYT 1) 1D 25N XY 1183 AND) 199N NI

However here (by all 7°v°) even if it was written on his command, he is not
giving her anything, for it is hers (she already paid for it).

In summation; there is no requirement of MM>w by writing a v3; when the 770 writes 712 and, it
does not mean the husband specifically, but rather anyone may write it, as long as the husband
instructs him, otherwise it is lacking in 7aw>.

mooIn asks:
- 919393 2117595 933 INY XY 9NN ON)

And if you will say; but they (') are not in the category of nins12?!

N1B0IN answers:
- ;95 233 NN ZAVIYA NONYWI JOPA 9I1AN BN ININ MINID 933 S2PUNT 911 U

And one can say that they (1'wn) are considered ninsa> %13, since when the jJup
becomes an adult and the v becomes sane; they are nIn®> 512 even now —

ndoIN asks:
- Zasay XD NIWOIT RNYTYT DIVM RIN 02919 T21Y Y09 KT ¥WNRT NUP Yax

However there is a difficulty; for it seems that an 2''vy is disqualified from

writing a v3, only because he does according to his mind (and not what he is told) —
- P5y00 £53915 72T KNI $INONY 3193 7598 1129 11153 MNP %33 INDT 1Y PISSM

But let us exclude a ">1 from writing a 03 since they are nin»a3 %13 W8» (we do not
need to resort that 7.2y Xp 7°wo17 7nYIX), and why was it necessary to cite a Xn>s92
that an 2'"12¥ is 9105, since it should obvious that he is 2109 since 1733 MN™3 *32 189?!

Mo0IN answers:

%% 0 means cutting off, separating, divorcing. A Y"wn cannot effect any type of mn»3 (in their lives [they cannot
be legally married, so they cannot be divorced]), so how can they effect N1n>72 in a va.

*! Similarly the n\w n may regain their speech or hearing. See ‘Thinking it over’ # 2.

22 1am1 21 asked X177 27 (on X,32), a >191 should also be Tw3 to write a va if there is a 3"y 72W 9172 (just like a 1"wn are
qw>). The Xn3 answered that a >33 is 72y w17 °nyT2. It seems that otherwise he would be w3, the question of
nmvoIN is that a 31 is 1772°1 NN *12 K5!

» When 1" asked his question (see footnote # 22) that a *131 should be "w», he followed it up by saying, and we
know he is not 7> since there is a Xn°72 which states so. m»doIN is asking why the need for a &n>72; how can we
even entertain that a 331 can write a v3, since he is N1n*15 *12 87! See ‘Thinking it over’ # 3. (See nwn nomn.)
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- 9111393 T3 32 INDT ©IVN YUY THIW KYT AN
And it appears to N1901N0 that it is not applicable to disqualify anyone because

of 37391 NN 212 IRY -
- Pty ouY N9 MINPYY Y¥a X9T YN0

In something which does not require nm»w, or it is not for the purpose of
giving testimony —

mdoIn proves his contention:
=915 NYYY NWYI Tayn PNT N zsmpb 129N NI MNSIYT > 19024

For we only (only) use the argument of mn°1> °12 WX regarding nim»w, later in

reference to the rule that an 7a¥ cannot become a W, etc. to receive a vx for a

woman from her husband since he is not PR17°P1 1Y% 1IN (i.e. 1773°1 NINID 212 IRY) -
= (3, 91 NP 7992 259D 7999 MTY OWH XOAY 9INM 239 119NN N

Or we find this argument of 171°1 NN °12 X7 regarding signing a v3 according
to »''" where signing of a v} is for the sake of testimony, where the X9 2

previously asked in the first p2p -
= 91139 MN95 233 IND NN 02915 Y7121 JNMNY PV9) %3)

Regarding 1°u>» whose signers where 2''19w, ‘how can it be w5 since they are
NINIID 912 IRY; it is only in regards to M7y MY that we find the X3 saying Mn™3 12 XY

30 -
- 9 NI DWY NYY MY DIVY NYT 1IN 229 291 YaN

However regarding writing a v3 according to R''3 that it is not for testimony

and not for mymsw -
=139 MNI5 233 INDT DIVYN DIDAY N

The v3 cannot be disqualified because of 3;72°1 nINv72 912 X!

mdoINn proves his point:
- 171353 N9 %33 INDT DIVYN ©3999 TP N9 (vi39m DT NPT 72 P93 s 8Y NN

For the X773 in the second 75 of 1''y noon does not disqualify a 79°» performed

* mpon is stating a (new) rule that the 9109 of 171" MN™> *12 %Y is only if we are discussing MW or M7y, but in
other cases (such as V1 n2°n3 [which does not require M*9w (as mentioned previously) nor is it a M7y N7a7], there is
no 1Mon with 1711°1 NN °12 187, See 0°n WA who offers an explanation why only by min*5w and m7v, do we require
mn°A.

¥ a0,

%% According to 1" that *n7> "y it is understood that the 1"y (who effect the v3) must be Mmn»> 13, and according to
X"7 who maintains °n73 »"¥ they too have to be N1n>> °12, however the 712°n> which is not a testimony and does not
require Mmow (see footnote # 14), therefore it does not require NIN>3 °13, just as the paper on which the va is written
does not require that N7 °12 prepare it.

" Others (even) maintain that a 7" may be performed by a >731 (see there 2,1).
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by a 121 because they are not 7757 %13, (but rather for other reasons).

In summation; NN initially assumed that 1"wn are NMN>72 12 since they can become ‘normal’
adults. However maoin concludes that mn»1> 12 is required only in cases of MW and M7y, but
not in the writing of a va.

mooin offers a different approach:29
- 2295810 9397 N2IN It NONDT 92019 1298197 PNNY 13929 9N NI

And additionally says the >''9, that we can say that this X320 is according to »''" -
- 191500 YON N29N9 1999107 133970 NNYY NN 13993 53 PN Y2957 PNYT XPYD)

And we are assuming now that also according to »''" we require 7aw% 7370

31277, for there is an injunction of 7nWw5 1712°n2 because of WS 2N -
- 1923 5Y 1219 9113 XN 29 1Y oI

So X197 27 established our 73w» in case where there was a 1923 DY T2 2173 -
- 21329713 XON M7 K9T 1199 NYINAN 590 HVIVA 195N 23NN

And a x"vvx will be effective by 10> even by a 7w more than by 1731 where a

2"v¥a is not effective, since the requirement of 7nw" by 102 is only 33297% (however
by 11%°%1 the requirement of 711113 is n'"7n) -
= PRYY NNMNINTI NN Y27 NYIN 299 YaN

However according to X''2 who requires n''; 7awb 72905 -
- Fa09n3 995 1920 5y 1Y 91 Fnviva nnn NY

A 3"'vy3 will not be effective for a 7w by v, as it is ineffective by mxvon —

% This provers that the concept of 373°1 121 %32 X7 is not universal but rather it is limited to nm*>w and M7y (but it
does not apply to v N2°N3 nor to 77°).

¥ mooin will present a different approach to answer the previous questions regarding mn»3 ,mm9w, etc. MdOIN is
perhaps dissatisfied that N33 °12 is not required for Va7 N2> (according to X"), or that 'An>1' does not refer to the
5¥2. Similarly n1901n may not agree to the difference between v3 and %71 (see footnote # 11).

% This is in contrast to the previous "5 that we assume that our 7aw» follows X"3 who maintains that 2021 refers to
the v n2°n> (which needs to be 7nwY). However, "7 maintains that n"7n a v) need not be written 7nw>, for "2
interprets the word 2n21 to refer to the L7 NN, the 77°nn needs to be mnwH, but not the 712°n>. This "5 explains why
there is no concern of 7°1 NINHW °12 R or 1% NN °32 XY, since the (W) 72°n3 is not required n"in, and does
not effect the nIn>3 therefore a 1"'wn can write the va (with a 3"Yv3 to insure the 1312777 72wY). See ‘Thinking it over’
#4.

! We are concerned that if the 7222 will be 7w 9w the 7»°nn may also be WY X2w and that is "7 7100, See
‘Thinking it over’ # 5.

32 The s')x question is still valid how can a "wn be w3 to write a b3, since we require 112772 7Aw> 722037!

3 We do not need the answer given previously in this Mo (see footnote # 11) that by va it is v Xn9 X727, but
rather that by v3 it is 132777 (therefore 3"vv3 is sufficient even for a W) and 7%°%1 is 0" (so 3"¥¥3 is insufficient).

¥ However by a wam 1op it may be w3 (as far as the Anw® aspect) even according to X", if there is a 3"vya. See
footnote # 10. See (also) footnote # 36. However that may be only according to (the X"17 of) 1. p"17.

* This in in disagreement with the first explanation of MmooIn that a 7vWw may write a b3 (according to X" if there is
a )"y (see footnote # 11).
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mooIn continues explaining the & 13 (according to the >"7IR M3):
- 2595810 9395 NNOINT 159 ¥IWM 91D B399 T2 NPT NN PINI 29 72999

And 1"'1 challenged X177 21 from a Xn>»72 which states that a 5721 is 908 to write

a v, and it seemed to 1" that this Xn>392 is according to »'' -
= £53999 72y NIN DIDAY VPI NV

Since it only mentions to disqualify a 3922, but not a 7vWw (and a P W) -
= T2aY NPT NYD NIVIYT NYTY 052919 T2IYT VNI

And the X3 answers that a 221 follows his own mind -
= 9N 2299 929N 1733 BY 199 917X 199N D109

And therefore it is 9105 even if a 3"'p¥s even according to »''1 that the requirement
of WY is only 1312177, nevertheless a >33 will not write 772W? even by a X"vya.

mooIn explains the continuation of the X723 (according to the *"9 IR 7I):
= NP TYON 2349 DIDO 02910 12y 1INPT NN 91D 19N 29 9N 91N

1" retracted and said, etc. (that a *131 may write a ©3 [according to n"1]), and the
Xn>m2 which taught that a v221 is 9105, this is according to X'’ (only) —

mooIn responds to an anticipated difficulty:37
= 9N NPT 2 NINY 29 JY GRT N5MAIY 023019 T2y VP

And the X072 mentions a 121 (not a 1"wn) as a novelty that even though a 22

is more intelligent than a Y'wn, nevertheless even a 21 is 7109 -
- Emnshy 193 IN PIDST 1OPY HVIY WINT PR NI
And the same rule applies that a Y''wn are also w5, if we require now for

writing a v (since none of them [Y"wm »21] are MMPHY °12)-
= 193¥ D53 DYDY ©2915 121 VP MNIHY 1I9¥a XY IN)

And if we do not require nimbw, the Xn>>72 mentions a 121 for he is %105 in any

event, even if a 2"yy3 -
- AYYNA N DD INT HVIV 1739) 1533 HY T 9Y13 859U 1V TNVIY YN IPNT

%% mooin is explaining 81" question (why is there a difference between a 131 and a 1"wn). Seemingly there is no
question, for that X012 may be following the view of X" that requires 7nw? 72°n3 therefore a 131 is 2109. Therefore
MooIN answers that 1"7 assumed that this Xn>72 also follows the view of n"3 (like our mawn), for otherwise if it
follows X" why mention that only a »21 is 2109, say that a 1'wn is also 708! [It is apparent from s'1" question that
he equates a »31 to a1"'wn.] See awn nona that the proof is only from 70 (not JuPY WAM).

7 mooin is now saying that the Xn>12 which disqualifies a ™21 is according to X"3 who requires 0" Anw> 72°03.
However mooin just taught us that according to X" a1"'wn is also 7109, so why does the ¥n>>72 mention only a *121?
%% In this answer (the >"3 ¥R 7W) we are not certain (according to ") whether the 2021 refers to the 7v2 (so Mmow
is required), or 203 refers to the 1910 [see footnote 13 & 14] so no M oW is required. However according to »" that
an refers to the 7N there is certainly no need for mm>?w in the 72°n3. See 7wn nom1 that this doubt extends to the
issue of MmnN»> °12 as well.

** The 5" wamn and w"wA delete the word 01 (as Moo seemingly continues to say that a oW is always 2109).
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However by a 1"'(@)n, they are 2°7w> by a 3"'yv3; however a mw is certainly™
Yep just like by*! 73%%1 even with a 3"yva —

The "3 X 7' has explained our X723 based on the assumption that (at least in the X"17) we
assumed that even 1" requires 112772 7AW 72°03.
— 192971 NNYY NN YT PNYT RPID YINN 239D 1D%9RT ¥NRYN 199

And so too it seems that we assumed (in the X"177) even according to »''9 that

7wy 72°n2 is required 3329772 -
— 295N 5295 19153010 ) YPINT 9N2Y NNT
For after 1" established the mw like »''9 -
- Basay Np IWOIT NNYTY £52915 T2 INT KDY 599
The X713 asked, ‘but the »21 is certainly doing it (writing the v3) 7ows17 NPT .
This proves that in the X"177 we assumed that even »"3 requires 132772 72w 72°02.

In summation; the "9 M 7' maintains that the X723 assumed that the 71w is according to »"9
and even 1" requires 1312771 WY 72°03, and therefore the questions of Mn»3 and MP%w do not
apply. The >3 9mR 731 seems to be unsure whether there is a requirement of Mm>w by v N2°N>
according to X"

mooin offers a third alternative:
- ¥N5INTI NNAYY NN WA 9IN 229 1DPANT PNYT NPYD RNYNAT AN I

And furthermore it appears to noo1n that now we assumed that even

according to »'' we require n''; 72w 720N -
=923 NIONNN NP NIPT 2N1T 920 9N 239 29997 NIN NNINNIAY

And X"T1 »"7 argue regarding 7»onn only; where %''% maintains that the word

% See “Thinking it over’ # 6.

* ' We will need to explain that he did not mention 71w like the first answer, for he mentions a Xma? *721. See
(however) wn noma.

#2 1" concluded that (according to n"7) a >721 is w3 to write a v3 (and certainly a 1"wn, so our 7w follows the view
of n"), and the &Xn>>2 which says a 121 is 2109, is according to X"9. The X3 then askes (see the *0737 nRY in """
R 71"7), but a 121 is T2AYP WHIT nyTe.

* What is the s'87n3 question; what of it if the 721 is writing w917 7°nyTX, since we are following »"1 and 72°n3
7MWY is not necessary. The fact that the X3 asks 191 7°wd17 7°nY77 *131 X7, proves that in the X" we assumed that
even according to 1" we require 132172 W2 72°n3 (and aY"'wn are w3 only if a 3"yyy). In conclusion, however, 1"
responded that in fact according to n"1 we do not require 7nw> 712°n> even 72°1n3% (and we do not require a 3"Yvi by
a1"'wn)!

* According to this '7ix13 MY, we will have to accept the answers of the first bws in MooWN; that MW is not required
by L7 n2°n> (since 2N refers to the 7910, not the 9¥3), and Y'wn are NIN>13 °13, since they can become ‘normal’ adults
(and/or that M3 °12 is not required for V37 N2°nd). The advantage of this 'X71 7' is that we can no longer ask,
why does the X7m3 ask, 711 7¥7 *12 XY &M, perhaps we follow 1" who does not require 7nw? 172°n3. According to
this 1871 TwY, there is no question since we now assume that both »" X" require n"nn 7awW% 72°n3. [The IR 7Y
assumes that it is more logical to say that n"1 requires " 7w 1712°05 than to say he requires it only 112777.]
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an2y of the »ep refers to »snm as well® as 72°n3, therefore both need to be nnw» -
= INP ATINY N2ININT 920 ITYHN »a9

And R''% maintains that 202 refers only to 7129n2; there is no need for n";» ma°nn in a
o3 —

mooIn proves his point (that in the "7 even n"1 requires N Anw» 72°0):
= 9915 VXN NN INY XXM NNPYY NY ANIY 1NINI 29D N9 7999

Since X239 challenged 12''9 (who maintains that n"9 does not require 7»Ww? at all);

‘but it says 72 an>, meaning 72w, does that not mean the writing of the s, etc.
has to be 7aw%’ -
= 2099 9NN 229 ¥ NN IPANT %N”ﬂ a9 Y929 YN Na 10 NAYT YHIVYN

This indicates that 839 wanted to reinstate the position of 7''% that »''9

requires even 72w> 72703, from 'an2Y' -
- ¥ 429193 129N 5193 91D At 29

And according to this X"\, writing 921722 is also 9105 —

mdoIN responds to an anticipated difficulty:
- Yammn 01910 WY 5959 **9u 19 1909 1NN YN S¥Y NT N

And this which the mw» previously taught; ‘he detached it (from the ground)
and signed it and gave it to her it is "w>’, this ruling is in a case where he left

over the place for the 570 -
- 5ONnby 99195 11393 AT 233 IND N P99 XYM

And now (that we are saying that in this X"¥7 even 1" requires N"7n 7Rw 72°02)

the challenge of 7201 77p7 532 8% XM is according to everyone (X" »") -
- HTPHN 2299 DD D29)3 T2 NPT XNIAT 1IN 29 P>0N

* We derive the rule of w9 from 7% 2031 — Anw 7%; so it depends on what 2021 means whether 772°n or 7%°ni or
both.

X177 21 maintains that a 121 is 2109 to write a v even if 3"v¥a since Tav w7 P NYT>. However 1" maintains that a
731 may write a v3 (according to »"7). When X271 challenged 1" he was saying that you 1"7 cannot be correct that a
721 can write a v (according to n"7), but rather "1 is correct that a 121 cannot write a v3 (according to 1) because
the 77730 writes 'an21'; indicating that s'27 challenge was that even according to »n"9 we require n"nn 7w? 72°n>!

*T The 7N writes (in ®,75 [X¥N] 2>927) "3 10N "2 2001, we derive from this that if there needs to be iX°Xp (cutting
off) between the an31 and the 01 it is 7109. However this depends on what an31 means; whether 7»°nn ,72°n3, or
both. If we are now saying in this X"¥7 that »"3 also requires w2 172°n3 so 221 refers to 72°n5 also, therefore 1n3
7232 (where it will require 7%°%p before jn1) is 2108,

* Previously the X3 answered the 73wn is according to »"9 that 202 refers to 72°nA not 712°n3; however now we are
saying in the X" that even n"1 disqualifies 12112 72°03, how can wmnm Ww5n (after 72°n2) be w>3?!

* The A7 is the main part of the vi (the names, etc.). The requirement of 1011 2021 (to exclude 7¥°¥p 701MN) is only
regarding the 77N, not the 0910 (the standard text of the v3).

%0 This is the (main) advantage of this ¥17°0 that no one can answer that this 73wn is according to n"9, since the Xxn3
assumed (at this point) that even 1" requires n"n 7aw? 72°03.

10
TosfosInEnglish.com



XM 7"7 '010 2,20 YA L7023

And 1" concluded that the xn»12 which taught that a >221 is 105, is according
to R''M -
= NRYY NN ¥ NYT 9NN 29 PRINND)

And our w2 is according to »''7 who does not require 72w 72°n2,
- ©%29)9 123y PN NI JOPY NOIY WAN VP

and the 71w mentions 1''wr but the same rule applies to a 5921 that he is 7w even
if there is no 2"y -
- Slatyhn 9295 1) NININ NYIT DIVN 03291 121y VP XY 913 ON

Or you may also say; the 71vn does not mention a 5151 because the Xws (our

7Iwn on 1,2D) is also according to R''1 -
= 152) 5y T D112 1PV JOPI NVIY YIN RPYT NY77D)

And according to R''9, only a ¥''@wn are 1 w> when there is a 3''¥¥3 (but not a 121
since T°2y Rp 7°WoI7 NYTY) -
- 9W5 12909 1I¥5T Y591 XN PIYY DD 1Ay 09T 199971 N0 YaN

However the 8230, from which 1" infers that since the 71wn (only) disqualifies
a >121 to bring a v, it implies that the *721 is 9> to write a v3; this x9°0 -
— NN 290 NOON
Is according to »''9 that a >33 may write a 03 since we do not require TwW? 72°02.
= 9915 12397 D255 T2IYY DIV PIVTIN SWPIN NIT 3V SNN)
And it turns out properly that one should not ask; instead of 1"7 inferring from

the x9°0 that since a 21 is 9193, etc. for 7377 only, this implies that for 712°n3 he is Tw3; so

instead of this inference -
- 251097 XY 7Y %30 K91 PIPY NN

On the contrary let us infer from the 8>, where it is not mentioned that a >722
is Ww>; proving that a >33 is 91055 the answer is -

= ONN 2297 1195 TYIN 2297 1) NN NYWIIYT DIVN NON
Rather because the X4 is also according to X''9 just like 2''9, and according to X"
a "d1is certainly 7109; however we can be > from the 890 that a >121is 9w2 to write a v -

- Say XD NOWIT NNYTN ©52915 T2IY INT KDY 75999

And the X773 challenged, ‘but a 921 is certainly 752y Rp 7PWbIT RNYIR’; the X3
meant to ask -

>! This is (seemingly) only according to the first and last 5 of Mmoo, however according to the "3 9= Tw1' that a
U is always 9109, our mwn (which is won a nvW) cannot be according to R"1. See (however) (71787) X"wAan.

>2 The 73wn on X,%.

53 Why are we p»» from an inference in the X5°0 that a >31 is 7w>, when the more obvious inference from the R
indicates that a 121 is 2109 to write a va.

> moon is explaining, once 1" concluded that »"3 does not require (n"7n) AnwY 72°n3; what is the question XT1 X
TaYR TWHIT XRNYTR 0"12Y; why should that matter, since 7w 72°n3 is not required. NN responds
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$953) 9¥ 1Y 91733 1339710 TN Y95 9NN 399 YOIY 7Y MY
So it should be %125 according to »''" at least 13297% even if a 3''yys!

Summary
We can either assume that the 71wn is according to X"7 and there is no issue of

mow (since a0 refers to the 1910) or NN (since it is not MA*HW or MTY), or we
can assume (in the X"7) that even n"9 requires 7nwH 72°n3 (either 132777 or nN"n).
In conclusion according to »" a "121 and 1'wn are W2 without a 3"vyi, while
according to X" a1"wn are WD with a 3"yy3, but not a »11.

Thinking it over
1. mooIn writes that the question of "1 7¥>7 212 RY &MY, is according to K",

Why did the X713 assume that the 71wn is according to X"9 (and asks a question),
perhaps this m1wn follows n"7 (so there is no difficulty to begin with), especially
since (according to 1"7) in the X1p0n, the 71wn follows the view of n" 9217

2. Moo writes that a (FVWN) JUP are NINMD "1 since the JupP will become a 7173 and
the 71w can become sane.”® Why do we find later that 2"19¥ are 2109 to deliver a b3
since they are 'R X7°n°n 72 IRY'; but they have the option of being 9 nn and then
they will be X7°n°71 72; what is the difference between a 1" and a 121>

3. moon asks why was it necessary for 1"7 to cite a Xn»92 that a >121 is 709 (it
should be obvious since 1731 NIN*3 *12 1%7).%° MO just maintained that "1 Jup are
mn">3 12, and a "131 is not, so MdOIN should have asked, how can 1"7 compare a
131 (who is Mn®™> °128Y) to a 1"wn (who are Mn™> *12)21%!

4. The "9 2R 717" establishes the X210 according to »"7 who does not require
n"nn anwh 72°n3 only 13129777; thus removing MO previous question (regarding
mmow and Mn™3).% How will the "3 mx 7w respond to mdoin first question

> See mwn noma that this explanation is according to the last 5 in Mmoo,
% See (text by) footnote # 2.

7 See TR R"WIR and 7INPNT OWIDR XX # 34-39.

38 See footnote # 21.

%% See 0" and 7wn noM.

5 See footnote # 23.

o1 See (rNm) "W

62 See footnote # 30.
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regarding the contradiction between our X»3 and 711 'on concerning 713;% is the
fact that we are following n"9 sufficient to reconcile this contradiction or do we
need to accept Moo initial answer there?®*

5. The "3 92k 7" establishes the X210 according to »n"9 who does not require
n"an aewS 72203 only 112177, because of a 71 nm WK 72203 771 why was 3 "9
7R°N0 VR 772205 only regarding 7nwh, why was he also not M3 by mn»™o mmow
that they are 9109 for >0 Y& 72°n5721%°

6. MooIN writes that according to X" a W is certainly 9109 to write the v3.°” Why
then does the Xn»72 only mention that 2"y is 109, it should have also included a
i ivad i

83 See footnote # 4.

% See (TN KW
5 See footnote # 31.
% See mwn noma.

57 See footnote # 40.
%8 See mwn nomA.
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